)

=)

220 (fifig ==

R 7L — A
A- AW S=1/100 WRAF TR 350X 150 A3 (1,500 X 1,500)

25 = . . : . 5 _ Wz » —
I e B e e B s W e B B B I L E o s B-BIFER S - 1/100 C-C Wi S =1/100
X 20
\ \ ik =vh
ft: #EIWAHE 2.0 50X50 TR —
W FEFFRT(=30) Wt EE— D16 L=500
- *ﬁﬁ;:yhﬂ;y}f‘yﬂ;ﬁ"/ﬁ—j S
%ﬁ‘ﬂi S = 1/100 913 17400 (7730 D16 L=500 D16 L=500
49,850
1750 1500 . 1500 . 1500 _ _ 1500 _ _ 1500 1500 1500
o ‘ ‘ ‘ ffig ==y b Wi
— | 1] - 2 A FERA WA
g | |
2
g | |
2
g u \ fidkt =y bbb AT T —
= 613 =400 (75730)

21,350
(>

(=3
o
[a\]
(=1
g | | 1,000 41
B4 Bk Rt Hemr | HAL e
2 $2.0
N " . FRENT. ) 1,000 | nf
z | A= NI S =1/10 5050
= fii == b H=220 £HAL=1,400)
- ALLBIT Wm0 3351 X 138 X (1,000/1,064.30) 2031 [
S R =y MED AT Tl — o 7 —
- ] ®13 L=400 (7v230) (3341 132X 1) X (1,000/1,064.30) 1031 | & HDZ 35
5 3 L=400
! TIH— H=150  [(3451) X 14 X 1 +3351) X 28 % 2{) 5713 |
Sy H T N I 2 A — W=350 x(1,000/1,064.30) B
* ¢ B K o e D16 (3451 X 16 X 145+3351] X 2 X 27%) 6350 | &
Rt A AR AT (£=30) fifiA: L=500 X (1,000/1,064.30) |
TG AN — Tl ZEHRA R AT (1=30)
WA P S S 4 D10 o D10 (3431 % 21.35m+2% X 49.85m) X 245 % 0.56kg/m 868.9 | ke
¢ 2.0 5050 D16 1=500 M=y M D AT VT — % (1,000/1,064.30)
¢ 13 L=400 (7730) X . -
. < - N (34%1)X 20.65m X 0.038 mi+2E% X 49.85m X 0.038 ) . )
Fﬁﬁl%/f\ (A14_B17) S=1/10 : EALL C:5=14 " (1.000/1.064.30) | 287 |
1400 BHEA (k=1
F4RE 62.0 50X50 g (33511 X 2B¢ £1.15m X 1.2m+3341] < 12% X 1.15m . X .
P = e X 1.25m)% (1,000/1,064.30)| 8205 [ ™ =30
A= FEAA R AT
3351 X 13 X (0.25m X 0.22m/2) X 1.15m O
f#== s b ) % (1,000/1,064.30)=12.748m° | 255.0 | ni | * 50@9»
12.748m’ -0.05m 2B 1:0.5
(=1 y 1H o s o « " = 1 - 2 SHp 1o
2 i %{j”’*@[ﬁ:ﬁﬁ S=1/10 ek 3341 20.65m X 1.15m < (1,000/1,064.30) 736.4 | i |V SRR
A
/ ‘ 350 ‘
\ 175 ‘ 175 ‘ WA
g D10 | { \
i — T T
= . ™
zk .
Y -\—'-.:.-.—-"'-l.—‘"" L — —,{ . A_,!_‘_’.-__'U__*r“ {‘O’D
T
i ZE FERF VAT (=30 i A
1700 A SRS (1230 ZE4H8 ¢2.0 50X50
TIH—AR—Y—  $3.2




